Multiple Choice
1.(5pts) The solution to the initial value problem

dy _

x .
=— is
de vy

(a)y=z+C (b)y=C+ = (c)y=a2+C (d)y=vaz2+C (e)y=0C

2.(5pts)
/2
/ sin”t cost dt
0
1 1 1
- b) = - 1 p
(o) § OF (© ¢ (@) (©
. . >~ 1
3.(5pts) The improper integral / — 75 dx
1 T /2
(a) converges to 3 (b) converges to 2 (c) converges to 2
(d) converges to 2 (e) diverges
5) 11
4.(5pt;) The pz;rtial fraction expans;’on of 3322%—;_“% is 5 )
b
<a)x—1+x—3 ()x+1+x+3 (C)x+1+x+3
4 3 or + 11
d _ el
():c+1 r+3 (¢) 2?2 +4r+3
5.(5pts) A sequence is defined by a; =1, a,, = n=1 for n> 1. Then as =
n
1 1 1 1
— b) - — = |
6.(5pts) (sinhz + coshz)® =
e’ 1 1
inh 3 b) — 3 e 3z
(a) (sinh.) ) (©) ope (@) e (e) e
7.(5pts) The improper integral P ds
.(5p proper integral | =y
(a) converges to arcsin & (b) converges to 1 (¢) converges to arcsin 3
(d) converges to g (e) diverges



2
8.(5pts)/ rlnzx dr =
1

(a) In8 (b)4ln2+§ (C)4ln2+§ (d)QInQ—Z (¢) 2Ind + 1
9.(5pts) / re*® dr =

(a) €2 (22 + 1)+ C (b) %e2x(2x+ 1)+ C (c) 2 (z+1) +C

(d) %eQm(x—Q) +C () 3621(29;— 1)+ C

e —2x 42
s s m 1
(a) 1 (b) 3 (c) 5 (d) arctan 5 (e) arctan 2

Partial Credit

11.(10pts) Evaluate /
(V1+ 22 )

12.(10pts) Solve the initial value problem

d
x—y-l—y:\/E , >0
dzx

y(1) =1

dx

13.(10pts) Evaluat —_.
(10pts) vauae/1 T

14.(10pts) Use integration by parts to evaluate / arctan x dzx.

15.(10pts) Let a, =1 — (3)™.

a) Show that a, < any1.

b) Show that the sequence a,, has an upper bound.

)
)

¢) Explain why lim a,, exists.
)

d) What number is lim a,?

n—oo



Name:

Instructor-section:

Math126, Test II
March 18, 1999

e The Honor Code is in effect for this examination. All work is to be your own.
e No calculators.
e The exam lasts for two hours.
e Be sure that your name is on every page in case pages become detached.
e Be sure that you have all 13 pages of the test.
Good Luck!
Please mark your answers with an X.
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